What Does a Big Atom Look Like?

Directions: For this activity, beans represent electrons.  You must use what you know about atoms to construct a model of the atoms for this activity.

Big Atom #1: Na

1. On a small piece of paper, using your periodic table to help you, record the number of protons and neutrons in the nucleus of Na.  Draw a circle around this.  The circle represents the nucleus.

2. Determine the number of electrons that you’ll need for Na.

3. Place the appropriate number of electrons, in the appropriate shells around the nucleus.

4. Trace around each “electron” and remove the beans (This will serve as your notes for drawing atoms).

5. How many shells did you use?

6. In what order did you fill the shells?

Big Atom #2:  O

Repeat steps 1-4 from above, but this time, make Oxygen

Big Atom #3: C

Again, as you did before, build C.

If you have time, try drawing N, F, and Cl

Questions:

1. What part of the atom is involved in bonding?  Why is the other part not involved?

2. Wheat are the types of bonds and what is the difference between them?
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